





or dish wash by 50% more of existing sales. This will utilize the idle Marks
capacity in full. The product-wise details for the first half of the year 2005-

06 are: :
Washing soap Detergent Dish wash

Sales:

Gilgit (Rs. ‘000) 3,600 2,700 2,700

Hunza (Rs. ‘000) 900 900 900

Variable costs (as % of sales):

Manufacturing : 40 35 30

Selling 5 3 2 2

Specific fixed manufacturing

expenses (Rs. ‘000) 1,710 1,410 1,830

Required :

0]

(ii)

(iii)

Q.4 (a)

Q. 4 (b)

Prepare a region-wise profit and loss statement for the first half of
the year 2005-06 using contribution approach. Also offer your views
on the concern of the management and opinion expressed by head
of marketing division.

Prepare a product-wise profit and loss statement for the same peri-
od using contribution approach.

Submit your well thought out recommendations as to which product
should be produced to utilize the idle capacity?

“Evaluating performance, decision by decision, is costly. Aggregate
measures, like the income statement, are frequently used”. How
might the wide use of income statement affect managers’ decision
about buying equipment?

At the beginning of 2006, ABC Company adopted the following stan-
dards :

Total
Particulars Inputs Rs.
Direct materials 3lbs. @ Rs. 2.50 per Ib. 7.50
Direct labour Shours @ Rs. 7.50 per hour. 37.50
Manufacturing overhead : :
Variable Rs. 3 per direct labour hour 15.00
Fixed Rs. 4 per direct labour hour 20.00
Standard cost per unit 80.00

Normal production volume per month is 40,000 standard labour hours.
ABC's January 2006 budget was based on normal production volume.
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